.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Afternoon Session

Q1. The battle of was the largest and bloodiest battles in Indian history.
A. Wandiwash B. Plassey

C. Kalinga D. Buxar

Q1. #Y o378 AR sfaerw 7 wad 79 3R gl ars o

A. TiSrarer B. cordy

C. sfelar D. SFEX

Q2. won the IPL cricket championship in 2017.

A. Pune Supergiants B. Mumbai Indians
C. Kolkata Knight Riders D. Kings XI Punjab
Q2. 2017 # . d.vd. fhrdhe APagaig & & S g8 o
A. 90T gIRSIECH B. Ha$ $3dw

C. FIchIdT ATST TSEY D. fed solae goTa

Q3. Mahabodhi Temple complex at Bodh Gaya is in

A. Bihar B. Maharashtra

C. Uttar Pradesh D. Andhra Pradesh
Q3. &y 7T FFT FEA Y #iRT aiww #B

A. S8R B. AgRTST

C. 3caR wer D. 37 waer

Q4. is the state where two Deputy CMs were appointed recently.
A. Uttarakhand B. Punjab

C. Uttar Pradesh D. Goa

Q4. T T § S 1ol & # & 39 AEenE F Py R @ amn
A. 3ccRTEsS B. daTTe

C. 3ccR 9eer D. afrar
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Q5. 'Thanesar' is the old name of which district of Haryana?

A. Hisar B. Kurukshetra
C. Karnal D. Palwal

Q5. g’ gRATOT & R forer FT @ e 8?2

A. Rar B. Feald

C. T D. geldel

Q6. In which year did 'Jind Revolt' take place?

A. 1817 B. 1814
C. 1820 D. 1834
Q6. foig fage fvw a¥ gam ur?

A. 1817 B. 1814
C. 1820 D. 1834

Q7. Sir Chotu Ram was born in which Haryana district?

A. Rohtak B. Hisar

C. Karnal D. Panchakula
Q7.mm§mmmm#mmﬁ§mm?

A. Ugds B. iR

C. &L D. qagell

Q8. Who led the Revolt of 1857 in Hisar?

A. Ranvijay Singh B. Hukam Singh

C. Wazid Ali D. Mohammad Azam
Q8. RAR # 1857 & fage &1 Aqea frwsr far a?

A. ot R B. g g

C. arfaig 3fell D. HIgFHS 3TelH
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Q9. Who among the following did not serve as the Chief Minister of Haryana?

A. Chaudhary Devi Lal B. Sir Chottu Ram

C. Om Prakash Chautala D. Bhupinder Singh Huda
Q9. farafaf@a # @ Fla, gRaTON F FETHN 7 A?

A. Tterdy &dr efrer B. &Y BIg IH

C. 30 wehrer Hterer D. #jfdiex e gger

Q10. Which is Haryana State's highest Sports award?
A. Bhim Awards B. Yudhishtir Awards
C. Drona Awards D. Khel Sher Awards

Q10. RN T F1 Fafed Wl [REHR FT §2

A. i &R B. AT &R

C. glUT IEHR D. Wel W GEHR

Q11. One of the campuses of Amity University is situated in of Haryana.
A. Rohtak B. Faridabad

C. Gurgaon D. Hisar

Q11. vfad freafagarey # & qRET gRA™n F # a2

A. UgaH B. e

C. [zatd D. fgar

Q12. Majority of private schools of Haryana are affiliated to which board?

A. Indian Certificate for Secondary Education B. Haryana Board
(ICSE)

C. Central Board of Secondary Education (CBSE)  D. National Open University (NOS)
Q12. RN & it wzde FHa Fw S & wag §2

A. §737e1 Bféfthde B Al Todher (3MS.HL.Tw.s.)  B. gRaomars

C. @vgel a3 3Tt Ahsll TohereT (AL TH 5.) D. aereTel 39eT FfASFEE (Tt 3. wd.)
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Afternoon Session

Q13. How many times President's rule has been imposed in Haryana?

A. Two B. Three
C. One D. Four
Q13. gRamon ¥ fras I Isgufar aer SeTT AT 77

A.ar B. dlet
C. T D. IR

Q14. Select the option that shows the names of past Haryana Governors in chronological
order.

I. A.R. Kidwai

II. Mahabir Prasad
III. Babu Parmanand
IV. Jagannath Pahadia

A. 1, 11, I1I, IV B. III, II, I, IV
C.II, III, I, IV D. I, III, II, IV

Q14.
39 faseq #1930 F S T FTarwa & FTaR gRATOT & qF Teq9rell F AAT F Gt B

I. U, 3. fFeas
II. AgER yHE
II1. 919 WAEG
IV. ST 9gIfsar

A. 1, 11, 111, IV B. III, II, I, IV
C.II, III, I, IV D. I, III, II, IV

Q15. Who wrote the biography of Harshavardhana?
A. Banabhatta B. Gulam Kadir
C. Surdas D. Chauranginath

Q15. g¥ade & g+ fFas d?
A. STUTHE B. I[elTd Fifex

C. e D. =Ty
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Q16. Which is the first national newspaper of Haryana?

A. Dainik Jagaran B. Dainik Haribhumi
C. Dainik Bhaskar D. Dainik Patrika
Q16. RATUT FT I TSET FATIR 95 FisT 67 82

A. &fas ST B. &fasr sRerfa

C. e strea D. &fiesh gfenr

Q17. Pandit Jasraj, born in Hisar, is a

A. Freedom fighter B. Poet

C. Painter D. Classical singer
Q17. RUR & =& Ufi3q W TF gl

A. FacdT GeATelr B. &

C. R D. A IMh
Q18. 'Pran Sangli' was penned by

A. Chauranginath B. Pt. Neki Ram
C. Babu Balmukund D. Pt.Laxmichand
Q18. 'YIUT FiFall' & AG@H O

A. =iafeT B. df3a st A
C. 1q STef e D. uf3d wge

Q19. Asia's biggest cactus garden is situated in which district of Haryana?
A. Gurgaon B. Panchkula
C. Hisar D. Karnal

Q19. TRIAT T I =T haeq TS+, FRAON & fFw ok & ua 82
A. I3t B. gdghell

C. fgar D. FTATT
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Q20. is located in the foothills of Shivalik hills.

A. Damdama Lake B. Badkal Lake

C. Sukhna Lake D. Bhindawas Lake
Q20. Rrarfas i qEIfal f g A fua i

A. SHSHT el B. dcahdl il

C. ggaT girel D. fHsmarw sfar

Q21. The highest point of Morni hills is known as

A. Karoh Peak B. Garoh Peak

C. Tosa Peak D. Trosher Peak
Q21. AR Y ygIfAt A e =it Fo1g FY F ATH ¥ AT AT B
A. R AEr B. 9IRT =TéY

C. arar aér D. RN =AY

Q22. Crocodile Breeding Centre is situated in district of Haryana.
A. Faridabad B. Rewari

C. Panipat D. Kurukshetra
Q22. AIRATS YAl g RO F o & fRua 21

A. ®ETETe B. Yarsr

C. greirad D. FearT

Q23. Which mission has been launched in Haryana to increase the production of wheat and

pulses?
A. National Food Security Mission B. Haryana Food Security Mission
C. National Food Production Mission D. National Food Conservation Mission

Q23.ﬂ{sﬁtaﬁ%mﬁqﬁmﬁ#ﬁvgﬁmﬁaﬁamﬁwmgﬁﬁmwp

A. TSET Tied GRaT AT B. gRmoT @eg grat faewe
C. U WIeT 3cd1ee et D. T W TI&T0T fFerd
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Q24. Haryana is the largest state of India.

A. 21st B. 22nd

C. 20th D. 25th
Q24. RO AR FT Had 937 T B

A. 21ar B. 22ar

C. 20ar D. 25ar
Q25. district of Haryana is known as the 'hub of making durries'.
A. Panipat B. Hisar

C. Karnal D. Panchkula
Q25. R F o F1 'T8 T T g waT AT 2

A. 9raq B. ieaR

C. F=ATel D. qagell

Q26. Haryana has become the first state in India to implement which type of birth
registration in all the districts?

A. E-Registration B. Health Certificate-enabled

C. Biometrics-enabled D. Aadhaar-enabled
Q26. R Tt ot & g gFR & ST TSHIOT F AW FIA AT HRA FT Gl T o AT 82
A. S-Tsfiaor B. TAELT YHIUTI-HaTH

C. SraafeFg-aere D. 3TYR-G&TH

Q27. Which among the following districts of Haryana is famous for handlooms?

A. Panipat B. Karnal

C. Rewari D. Yamunanagar
Q27. gR=mom F1 #i foren, gy F Qv yfg 22

A. 9T B. &eTer

C. @rdr D. IHAGTIR
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Q28. Haryana ranks first in the production of

A. nuts B. cabbage
C. mushroom D. spices
Q28. gRarom ¥ 3UTEA A Igo T W ¢

A. FcH B. amafr
C. AAEH D. #F@Ter
Q29. "Murrah" is the breed of which animal?

A. Goat B. Buffalo
C. Sheep D. Cow
Q29. T fFy TR Y AT §2

A. IR B. #@

C. 513 D. I
Q30. Pick the odd one out:

A K L O

A. A . K
C.L D.O
Q30. 3HId FT TIT F:

A K L O

A. A . K
C.L D.O
Q31. Find the analogy.

AF:GL:: MR:?

A. GF B. PO

C. SX D. NP
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q31. WA &I

AF:GL ::MR:?
A. GF B. PO
C. SX D. NP

Q32. What should come at the place of question mark (?) in the following number series?

52, 51, 49, 46, 42, ? ,31, 24, 16, 7
A. 40 B. 39
C. 37 D. 35

Q32. farafaf@a wear sf@an # et e (?) F T W 47 gl A1RT?

52, 51, 49, 46, 42, ?, 31, 24, 16, 7
A. 40 B. 39
C. 37 D. 35

Q33. In a certain code, if RIFLE is written as 55625 and FILE is written as 6525. What will
be code for LIFE?

A. 5525 B. 2565
C. 5655 D. 6525

Q33. v AfRad Fig &, Ife RIFLE Y 55625 fa@r aar § 31X FILE &t 6525 fo@r a1 § @ 37 #i5 & LIFE
F F47 for@r srwan?

A. 5525 B. 2565
C. 5655 D. 6525

Q34. The sum of two numbers is 100. One of the humbers exceeds the other by 20. Find the
numbers.

A. 50 and 50 B. 70 and 30
C. 10 and 90 D. 40 and 60

Q34. &Y &I FT AT 100 F 37 H F TF HE&AT qELT FEAT & 20 AT §1 FEAAT FT I @]
A. 50 3R 50 B. 70 3R 30

C. 10 3k 90 D. 40 3iR 60
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Q35. Consider two events, X and Y. What is the probability of happening of events X or Y?
A.P(X -Y) B. P(X +Y)

C. P(X *Y) D. P(X/Y)

Q35. & geait, X 3 Y W fAaR #1 X I1 Y et & g HY THIGAT F41 82

A. P(X -Y) B. P(X +Y)

C. P(X *Y) D. P(X/Y)

Q36. An official exam was given by 100 employees of sales department. However, 10% of
them failed in the exam. How many employees cleared the exam?

A. 70 B. 80
C. 90 D. 60

Q36. ¥ RAwr & 100 FHTRAT Fr v 3TRAFRS e ff 18| AfFa, 37987 ¥ 10% Foary S 8 v gdan
# fraa Fearl o gu?

A. 70 B. 80

C. 90 D. 60

Q37. Prashant sells a book to Aparna at 5% profit. Aparna sells the book to Arun at 10%
profit. If Arun pays Rs.8700 for the book, what is the cost price of the book bought by
Prashant?

A. Rs. 7532.46 B. Rs. 6578.25
C. Rs. 5678.64 D. Rs. 7478.50

Q37. WaNid 5% W87 W 30 HT T [FdH a9l §| IIUIT 37 JEASF HT 10% AT G 30607 HT 9 3t ¥ IR
3FT 3H YEaF & AT 8700 TIA FT 31T FIAT 8, A WA A 37 Tea® HI fhaat & @lier 4m?

A. 7532.46 394 B. 6578.25 ¥9

C. 5678.64 T D. 7478.50 39

Q38. When a bar magnet is freely suspended, it points in direction.
A. North-south B. East-west

C. North-east D. South-west

Q38. IR YaF FI TAT T { TCHA W TE e i TE FART FIT B

A. 3caX-gferoT B. qd-9R=#H

C. 3ccR-qd D. gfeor-ufRear
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Q39. The boiling point of water is

A. 75°C B. 80°C
C. 98°C D. 100°C
Q39. I FT FAUATH ]|

A. 75°C B. 80°C
C. 98°C D. 100°C

Q40. The correct order of representing the producers and consumers in a food chain is:

A. Producers > Primary consumers B. Primary consumers Producers K Tertiary
. >
Secondary consumers Tertiary consumers consumers Secondary consumers
> _ >

C. Producers Secondary consumers D. Tertiary consumers Secondary
Tertiary consumers Primary consumers consumers Primary consumers Producers
Q40. TF ITER H@elT # ScUGH! X ITSHNFATIH FI Gl F7 T F ¢

> > > >
A.3ciesh 7 gTUAS Iusadr T ATeafAs B. WU Ul * ek JcdEh
ERIETI) eq?hwwsﬂﬂ Wma%n-)mwﬁmmaﬂw

> > > >
C.3cqlesh ~ ATEIAS IUFAr Jelrdeh D. ddiiaeh 3usfierdr  ~ #ATeAfAs susiiear  * wrafas
3HTEFAT e grafie ITseFar EREICT] K 3c9Teeh
Q41. is the synonym of “STURDY".
A. Fragile B. Tired
C. Strong D. Fearful
Q42. is the antonym of "ABRUPT".
A. Gradual B. Sudden
C. Absent D. Corrupt
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Q43. Identify the meaning of the idiom.

“To play the devil’s advocate.”
A. Argue for the wrong person B. Fight with a wrong person

C. Make enemies by arguing D. Present a counter-argument

Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

“Today’s test was more easy than yesterday.”
A. Today’s test was easier than yesterday’s test. B. Today’s test was more easier than yesterday’s.

C. Today'’s test was easy than yesterday’s test. D. Today’s test was most easy than yesterday’s
test.

Q45. Complete the sentence by choosing the correct word.

Isaac Newton gravity as a force.
A. found B. defined
C. discovered D. invented

Q46. @Ifhd Use FT TATFar Tarsd|

AT AT FT ST AT AT GordT § aa JoIg JTelt ¢
A. faTRTSt B. aarer
C. g8t D. fRelrast

Q47. #fi A A oreg F1 Adia (RFaH) e Tar |

I
A. 3TETT B. gi A
C. AT D. 37 &R

9
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Q48. R e & Hgray F1 3T IS T

FAT TTAm
A. E8Y o g SITelT B. fArer glar
C. Y =T D. R #H ¢ g=Tm

Q49. Y@fha areg FT agaw Fard |

Tt & 9T Tga Yoo aar ¥
A. dia B. dd
C. arard D. dar

Q50. Y@IfHd reg FT agada a1 |

ad
A. T B. T
C. ar D. Uf¥

Q51. Accounting of depreciation is done as per

A.AS 3 B. AS 5
C. AS 10 D.AS 6

Q51. ITHEAT FT AWM frud o far sar 82

A.AS 3 B. AS 5

C.AS 10 D. AS 6

Q52. Dividends are usually paid on

A. Authorized capital B. Issued capital

O

C. Paid up capital . Called up capital
Q52. FTATA: AT fF{ 9 31eT fFam Sirar &2
A. 3T Goit B. STRY Ysit

. Fitely 18 ot

O

C. Yeed Jolt
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.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
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Q53. Amount set aside to meet losses due to bad debts is

A. Reserve B. Liability

C. Provision D. Advance

Q53. 3relled HOT ¥ @1 arer T Y et & FAw arerer & fvarelt a1$ TR Y 7w gy €2
A. 3RTE B. arfdcd

C. graers D. 3

Q54. Cash flows arising from interest paid in the case of financial enterprises is a cash flow
from

A. Financing activity B. Investing activity

C. Not included in cash flow statement D. Operating activity
Q54. R sewt ¥ 1 are Tt R TR F gy aTelY eraTel AT S §2
A. Taeci arfafafer B. fader aifafafer

C. ¥t & faavor 7 38 anffer w17 fawar Srar D. JdTelT afdfafer

Q55. If the proposed dividend is 20%, the percentage of profits to be transferred to reserve
is .

A. 2.5% B. 7.5%
C. 5% D. 10%
Q55. Ife grarfad dmsier 20% g at arer &1 fFaar gfaerd smer Rerd & @ ghen?
A. 2.5% B. 7.5%
C. 5% D. 10%

Q56. Which of the following statements is true with regard to declaring and issuing of
bonus shares?

A. Shareholder's equity is reduced B. A bonus issue is same as declaration of
dividend

C. A bonus issue results in decrease in retained D. Assets are transferred from the company to

earnings share holders
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Q56. STH AAT FT VYU FIA TAT AR FIA F TG A FieT T FIT TF &2

A. IRRYRHT T Faer ger & 715 § B. S1A® ST ST SITeTier Shr ENYOT hiley SIET &7 &
C.Waﬁaﬂﬁﬁaﬁgﬁmﬁmﬁmaﬁr% D. Fufcaat &l gel ¥ AT G I TATATTRT T &ar
ST

Q57. The periodical interest received in respect of investments made on account of
debenture redemption fund is credited to

A. Interest income account B. Debenture holders account

C. Debentures account D. Debenture redemption fund account

Q57. ATHIY & YfdeTT B3 & FROT A F T F Yod IafF sarer F Hide Farsmar g :
A. SITST 31T @1dT B. SITSTr ¢TReh @Iclm

C. TS @rer D. |THIr YfderT %s @rar

Q58. Rebate on bill discounted is shown in the

A. assets side of balance sheet B. income side of income statement

C. expense side of income statement D. liabilities side of balance sheet

Q58. faer W & St arelt ge FY Fraed @ sar 82

A. doig ¢fic & Fufea arer ameT & B. 31 faaroft & 3m arer HweT 7

C. 3T Jarol & =77 aret Her & D. deld 2fic & gIffica arer HET

Q59. In fire insurance % of premium income is carried forward as provision for and
the balance is transferred to profit and loss account.

A. 50 B. 100

C. 25 D.0

Q59. 3P fiaAT F NfATH A #7 .....0. O TGN & T & 3T oF SITAT SITaT § T S0 &) &1 gifey @rd A
TYAEIRT HT T Jmar §1

A. 50 B. 100
C. 25 D.0
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Q60. All the following are fundamental accounting assumptions except

A. Accrual

C. Consistency

B. Growing concern

D. Business entity

Q60. RFAfafla & ¥ fBFd ITURT AW HTAT F T 7 g1 ATAT SATAT?

A. drgast

C. 3egeerar

Q61. Professional judgment is based on
A. Integrity and objectivity

C. Skill , knowledge and experience

Q61. AR vy R o skt g 2

A. gcafasar ug fAsqarar

C. rel, ATl T 3737

B. weriaeiter ufasareT
D. SIGEIR_Ae% $Uar

B. Confidentiality and observation

D. Experience

B. Mu=iar vg fadietor

D. g
Pl

Q62. Among the following, what is not a purpose of working papers?

A. To guide audit engagement team

C. To plan audit based on previous year working

paper

B. To form conclusion on financial statement

D. Evidence that auditor was negligent

Q62. RAFafaf@d & @ Fia a1 3327 Friefa erarat & dayw & agi 82

A. 32T ST arel aH &1 fEenfREer yera Fiar

C. 31 a¥ & rieler eEdrdsit & 3R 9 3if3e &
IISTAT FATT

Q63. Error of principle is :
A. Wrong totaling and wrong posting

C. Not recording a transaction

Q63. fawt # @ o7 o Aeifaw o v :

A. Tl TNIT AT T2UT Il NTECIT hlall

C. frelY ot &¥ Y Repls o el

September 14, 2017

B. facdT faaxuit uX forseny &ar
D. 3 918y foieg 3f1f2eT AoR3iesT #¥ ad &

B. Capital item treated as revenue

D. One set of error nullify the other set of error

B. HTA 3MSTH &I 3MHGHAT AT
D. Teh TeTcll ¥ GEY ITelcil sl HHTCT el
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Q64. Fraud is
A. Unconditional mistake B. Intentional mistake
C. Transitional mistake D. Conditional mistake

Q64. €A FaT #?
A. TISC ITeTdT B. SITeTesT &Y T 978 Terclt
C. olst ¢t # el D. gRfEufaasr # a1s ey

Q65. Auditor is unable to express any opinion on financial statement due to lack of audit
evidence, then auditor should issue a report having

A. Disclaimer opinion B. Qualified opinion

C. Adverse opinion D. Unqualified opinion

Q65. 33, ifEe Traat & 3roma & RAcdr RAavor W 3rge T aFa w1 & IFAYS § aF 3@ 9= RoE & sl
@ T & afge?

A. 3EdeRRoT (RFFeeR) I B. @ I

C. FAPRIHS T D. foar o I

Q66. is a letter written by the auditor to the client setting out the scope of audit
and whereby the client is required to confirm the same.

A. Confirmation letter B. Revision letter

C. Engagement letter D. Transition letter

Q66. TF O T 97 § S B 3R ave AafFwa w6t 3t 71 ot e w@ & e Raar @
AT HF STare F AaAFwET F guh g FEh o ¥

A. gfSe o B. gerdiafor o

C. s 9T D. 9Rade 9=

Q67. Which among the following is type of audit evidence according to nature ?
A. Internal audit evidence B. Written audit evidence

C. External audit evidence D. Conclusion audit evidence
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Q67. rafaf@a # & TasmarTar ST wHor F1 yFR FAT 2?2

A. 3aRes 3ifee gATOT

C. a1 3Hifee yATT

Q68. Cost audit on behalf of customer is done
A. to fix fair price and decision on subsidies

C. to improve cost accounting system

Q68. S F A F AT Hif3e Hit FTch §

A. TET & TAUIRE Fal T el X vk de & fore
C. dIeTd ofdr AEeH H uRa & fow

Q69. The main purpose of cost accounting is to

A. maximize profit

C. aid in fixing selling price

Q69. T AWT FT HET 32T FAT §?
A. a8 T TARITH HIAT
C. fowa Hea fAuiRa et 7 weraar aan

Q70. Increase in total variable cost is due to
A. Increase in production

C. Increase in fixed cost

Q70. o aRadf HFw # aRade R FroT @ 81 §2
A. 3T #H Seleadl
C. TR e & Feicay

B. faf@q 3iifee gHOT

D. 9Ier 3difge yaAmor

B. for decision making

D. in case of cost plus contract

B. o o & fow
D. oRTd 3718 glel aTell Hidar3il & ATHS H

B. help in inventory valuation

D. provide information to management for
decision making

B.IFIF-R:I‘\Ei %m«o« H EIAr T

D. Yetiel SaRT foIT Silet arel 0T g =T Jaret sier

@

. Increase in sales

)

. Decrease in fixed cost

B. S & Selcaly
. uRT s & war

O

Q71. Accounting standard 2 recommends the valuation of inventory on

A. Marginal costing

C. Activity based costing

September 14, 2017

B. Standard costing
D. Absorption costing
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Q71. AW AF 2 F AT Al F Aedd AT AT § |
A. FFATH AR T B. AT @I T
C. arafafer smenRa amrd D. 3GRNYOT ST &R

Q72. Variable cost per unit is

A. Fixed in nature B. Variable in nature

C. Semi variable in nature D. Sometimes fixed sometimes variable
Q72. wfa gfare afadt amra |

A. TEUT T9rma 1 giell § B. IRadl Faeta 1 gl &

C. 37 gRadt Tasmma & gt § D. Fefy aRadt 3N 3l R g &

Q73. Price per unit is Rs.150, annual consumption is 2000 units, ordering cost is Rs. 300 per
order and holding cost is 20% per annum. What should be the quantity of order?

A. 200 units B. 150 units
C. 225 units D. 175 units

Q73. ufd Ifie Few ¥.150 arf¥is 39T 2000 Ifee, TS H awra T. 300 gfar AT qor AfeseT A anra
20% wfa a¥ g aY 3iTST S AFET F47 g TfRe ?

A. 200 u‘jﬁt B. 150 uﬁrc

C. 225 gfale D. 175 gfae

Q74. Bin card contains

A. Details of price of raw material lying in the bin  B. Details of quantity of material lying in the bin
C. Details of quantity and price of raw material D. Details of raw material and quantity of material
lying in the bin

Q74. T F1¢ 7 471 g1 §?

A.%Hﬁqggummﬁmawﬁw B.ﬁ?rﬁq?gtrmﬁrmaﬂw

C.%Trrﬁqggtran—amaﬁraﬁmaammwﬁww D. = ATl JAT 3T AT T fFaIor
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Q75. For reducing the labour cost per unit which of the following factors is the most
important?
A. Higher input output ratio B. Low wage rates

C. Strict control and supervision D. Long hours of work

Q75. ufa Ifae FAgH A dANTT FH F& & fav Fwafaf@a & § #a1 ga@ sfow Fgcaqel 22
A. o9E AT AT3CYC I 3T 3dTd B. Haigdl T A HAT
C. BN =0T qur dww D. 31ftrh g goe

Q76. Maximum possible productive capacity of a plant when no operating time is lost is

A. Installed capacity B. Theoretical capacity

C. Practical capacity D. Normal capacity

Q76. el w47 i AT T ScuEHAT orwd waTee AT fega ¢ §, 74T Fgare 52
A. IS &7ACT B. Hgifdeh &fHaT

C. <ITagIe &THdT D. HIHY &THAT

Q77. Factory overhead should be absorbed on the basis of

A. Direct labour hours B. Direct labour cost
C. Relationship to cost incurred D. Machine hours
Q77. el & 3R ¢ F Arafad # Fad 3R W 3gnia F=r Tifge?

A. cgeT HSlgll HUe B. GcaeT Hslgll deTd
C. 3Tel aTell oIl & Haer D. #efieT gue

Q78. Which of the following accounts makes cost ledger self balancing ?

A. Overhead adjustment account B. Cost ledger control account
C. Costing p&l account D. Personal accounts

Q78. Prfaf@a & ¥ Fia I GIdT aRTT AW FT o® FARAT AT § ?

A. a3 FARIST @ret B. dmeTd or@r fAd=or @rar

C. dIITd o gTfel @rar D. cafFderd @rdr
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Q79. The most suitable cost system where the products differ in type of materials and work
performed is

A. Process costing B. Operating costing

C. Job costing D. Marginal costing
Q79. ¥ 3UYFA ANTA FAFeH Flar A1 ¢ et 3cute F 719 & yavR Tu1 F4 fAsures F FTR Wewrar @ 2

A. 9ThaT ot B. dTeleT olTeTd

C. & drerd D. g&H AT

Q80. When FIFO method is used in process costing the opening stocks are

A. Kept separated from the costs of the new B. Added to new cost

period

C. Subtracted from new cost D. Averaged with other costs to arrive at total
cost

Q80. 9fHFaT arrd # 519 FIFO ggfa &1 93T fahar Sirar § af yRfe+ e I

A. 7§ 3af i AT & 3797 WM ST & B. 7S ST & ST ST §

C. &S ST & § T STl § D. &l oI AT el o ToIU 3 oI & Ay 3T
frar STaT &

Q81. The actual and standard direct material costs for producing a specified quantity of
product are as follows:

Actual 51000 kgs at Rs. 5.05
Standard 50000 kgs at Rs. 5

The direct material price variance is
A. Rs.7550(A) B. Rs.2500(A)
C. Rs.3000(F) D. Rs. 2550(A)

Q81. T 3curg Y Rt faflrse AT F 3cuea # aafa® va YTt ATl AR AFeTad € :

aredfae 51000 fFelamed 5. 5.05 fre3 &
ATl 50000 fFImA T. 5 AT &

AT Y FIAT FT TcI8T AT = gen?
A. %. 7550(A) B. %. 2500(A)
C. %. 3000(F) D. %. 2550(A)
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Q82. A master budget comprises of

A. budgeted profit and loss account only B. budgeted cash flow, budgeted profit and loss
account, budgeted balance sheet

C. budgeted cash flow only D. entire sets of budgets prepared

Q82. T AR Iolc A FATEATE ?

A. Fad Fofe Far arar oreT g1f @rar B. ST &1 315 YT, Foic T a7 @TeT gTfey @,
goTe Y 713 ol M
C. Fdd Fo1c $T IS YA D. IR T 91T g57e & |elt de

Q83. An annuity is

A. A series of equal and consecutive payments B. More than one payment

C. A series of unequal and consecutive payments D. A series of equal and non consecutive
payments

Q83. aIf¥e srear (TwgdY) FaT 3?2

A. THT TUT HAcT $ITclTel T Sl B. T { 3T S[TcATeT

C. 3THTT TUT A AT T e D. THATA TAT 3T T I HGell

Q84. Basic exemption limit for women assessees for the financial year 2017-18 is

A. Rs. 2,56,000/- B. Rs. 2,80,000/-
C. Rs. 2,70,000/- D. Rs. 2,50,000/-

Q84. ey a¥ 2017-18 # aAften T AU F v 7 o ameamsa ge fraah 82
A.%. 2,56,000/- B. ®. 2, 80,000/~

C.%.2,70,000/- D.%. 2,50,000/-
Q85. Unabsorbed depreciation can be carried forward up to

A. Indefinite number of years B. 8 years

C. 5 years D. Cannot be carried forward
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Q85. IENAT AT FTH FT Fel dF A & ATAT AT FHAT &2
A. AATRad®Te d B. 8 @y
C.5ay¥ D. 31T gl o ST ST FeheT

Q86. Which among the following is considered as resident in India?

A. A foreign company B. A foreign company having more than 10
branches in India

C. Any company whose control and management D. Any company whose Director is a Indian
is situated wholly in India

Q86. AFfaf@d # & fFA 9RT &1 A AT AT FhdT &2

A. T faeelr suet B. T el Fualr forgedy R & 10 ¥ 310 r@rd gf
C. g ¥ Tt st foreeT =0T qor yeus 90 g & D. o &wel a1 derss o AR gt

T & 8

Q87. Final dividend received by shareholder will be chargeable in the hand of assessee in

A. The previous year in which the dividend is B. The previous year in which dividend is received

declared by the company

C. The previous year in which dividend is D. The previous year in which the dividend is

distributed by company unconditionally made available by the company

Q87. IIURF AR yreet Jifaer emerier freiReh =t & M g |

A. 99T a¥ # TS gs U=t o ST S Yo Hr B. f9ra a¥ & forgst omstier urea foram a=m &

C. 39t a¥ & 5 gH FUaT ¥ T dier & D. fgord a¥ & TS U=y 7 SITefier i TIse &7 I
3T FIAT &

Q88. Choose the income which is totally exempt from tax
A. Partner's salary B. Contributes salary to charitable cause

C. Share profit of a partner in a firm D. Salary paid by Indian government to a citizen
of india for services rendered outside India
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Q88. frafaf@a # & Fla &t smweeh g TE ¥ T AFA L2

A. TTSER T A= B. W & AT 3 & IR1EA ST
C. el a1 3 HSIER &7 A @ D. AR THR GaRT ARA & fhaY ARTRS & 2T & e
{aAT UeTel el X & ST aTell ddef

Q89. Which one of the following forms the largest share of deficit in Government of India's
budget?

A. Budgetary deficit B. Fiscal deficit

C. Revenue deficit D. Primary deficit
Q89. #Rd ¥ gare # fArfaf@a # ¥ frwdr g # wea 3fvF Reagd e 82
A. 518 9rer B. TSt Grer

C. JSTEd °rer D. wrgfAs et

Q90. In the post liberalization period the share of direct taxes in gross tax revenue in India
has

A. increased B. decreased

C. first increased then decreased D. remained the same
Q90. 3TN F d1g A H Thd HT TSFd A TcgaT HT A {rded
A I g B. & gé 3

C. g a8 R 1 58 D. JraRafeler W

Q91. Which of the following policy aimed at removing disparity in taxation and pricing of
various fibers in the country has been embedded in the 12" Five Year Plan?

A. National Fibre B. New Exim policy
C. Old Exim policy D. Jute Trade Policy

Q91. faffies vl & FX vd A # IWAAN A I F & fAvw afevwa fafaf@a & frw Afa # sma fr 12
qeadty Qe & nfAe fRar T a1?

A. TS BISeR B. sTdreT Ufdrata (Exim) #ifer
C. Q=i Uit (Exim) tfer D. 3¢ MR sif
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Q92. Despite being a high saving economy a developing country may still not grow fast
primarily due to

A. Weak Administrative Machinery B. Illiteracy
C. High population density D. High Capital - Output ratio

Q92. UF T3 qud HTTEUT & qMas(g ¥ Rarwefier o eafaf@a # fFrad Fror ash & yarfer 7@ < aFar?

A. HHSR TR o B. faRawar
C. 3t Steraear D. Ysil-3M3eYe &I 3T 3HeJdid

Q93. The primary objective of selective credit control is:
A. To raise the cost of credit for all purposes B. To decrease the total supply of credit

C. To influence allocation of credit among different D. To regulate total bank credit and general level
borrowers and users of interest rates

Q93. TIATHF HOT fAAAT FT FET 3227 FAT §?

A. g3l 3293t & foIT faT STt arel o7 1 omerel 3 B. RUT &1 el AT T e el

Felca T

C. faffiesT FHolgRT qAT JANFATHT HOT 3T W TG D. Fel e T AT AT & & WA TR A AR
STefel AT

Q94. Which of the following items are not included in the current account of India's balance
of payments?

A. Short term commercial borrowings B. Non monetary gold movements
C. Investment income D. Transfer payments

Q94. 9RA ¥ A & diw F =1 @ H fowaafaf@a & ¥ i o 7 anfdre w7t & sl 82

A. o 3afe & cTTaaTs RO B. Ilel &7 IR Alfgsw cgagk

C. e 3mx D. $[ITclTeT TUTATcROT

Q95. The basic feature of Rolling Plans was that:

A. No physical targets were visualized. B. Revision of the achievements of the previous
year.
C. Annual fluctuations in prices and major D. No financial target except in term of annual

economic developments could be considered while plans was envisaged.
fixing targets.
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Q5. 3raclt AT FT TG FEIOT FAT UT?

A. &5 ot sitfas e AuiRa w8t e arr am) B. faurer ¥ &1 3yt s gedrator|

C. o&g AR i §AT I 41 97y 3w D. arf¥eh Aretelr & 3rfaRerd @I o faccdi e uifia
fafafoat & g arel aTf¥ess 3R Jerd W R frar s 8T [ ar= am)

HehT AT

Q96. Arrange the following in their order of occurrence:

(1) Introduction of Liberalized Exchange Rates Management System
(2) Rupee devaluation

(3) Enactment of FEMA

(4) Introduction of floating system of exchange rate determination

A. 2-4-1-3 B. 2-1-4-3
C. 1-2-4-3 D. 2-3-1-4
Q96.

Arafaf@d F geaT3it &) FH F J90 ;

(1) sefiFd Rfaw T yaue gome A e
(2) 39 F7 AT
(3) FEMA fafaafaa g

(4) RfAFT T AuRer Fr aiet sgaear w1 AuRor
A. 2-4-1-3 B. 2-1-4-3
C. 1-2-4-3 D. 2-3-1-4

Q97. A (Assertion): Planning process in India is moving towards the needs of the common
man. There is also a distinct move towards indicative planning.

R (Reason): Rising inequality and rift between the rich and the poor and a general trend
towards decentralization.

A. Both A and R are right and R is the reason for A B. Both A and R are right, but R is not the reason
for A

C. A is right and R is not correct D. Ris right and A is not correct
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Q97. A (ITAFYA) : AR & ANSAAT UTHAT FT TS HTH HTSHT T HTTIHATHT Y 3T & T &1 AT & 5UFT T
3O ST Wbl frararer Y 3T ot &Y T B

R (FRT) : T 7 AR & T et §8 FTATTA T TT$ TAT FHNFI0T H NE T8 I I

A. A T R a1t &1 @Y U9 A T FROTR § B. A T R &l & FEY § T A T HROT R 76T &

C. ATErg duT R e ST & D.RETETATA T A8T &

Q98. Net profit or loss is ascertained by preparing which of the following accounts?
A. Trading a/c B. Trial Balance
C. Profit & Loss a/c D. Balance Sheet

Q98. fAgd AT IT g1 AR ¥ FieT AT Wi IR ARTT Fvr STaT 82
A. YR @1ar B. Y gdrefor

C. oIt g gifar @rar D. JefeT-a7

Q99. Time and motion study is conducted by which of the following departments?
A. Time-keeping department B. Personnel department

C. Payroll department D. Engineering department

Q99. FAYT TF f eI g7 § vy Faemer @Ry Fram e 82

A. FAT-UTcle faeTeT B. e faHmeT

C. ad=A9eT fasmer D. AT fasmer

Q100. If there has been an over recovery of overheads, at the end of the accounting period
the amount concerned should be

A. debited to the company profit and loss account B. credited to the company profit and loss account

C. carried forward to the next accounting period D. used to reduce next period's overhead recovery
as a cost saving rate

Q100. afy et @ 3afr F 3a # sudcaat F 3fAF awe X ot ITeh § @ Fafa v F 741 FET AwRC?
A. FYAT & T g gifel @I & ATH 9T H STelaT a1gl’ B. $YaT & T g gIfa Wi & STAT Y&T 7 STelelr A1eT

C. OIS & & H 30Tl ol i Y of ST ST D. 37eTell 31afe hr 3U{cay el e &l & i & faw
arfge 9T R e anfge
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